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Q.3 िकसी सांकेितक भाषा मŐ, 'TURKEY' को '76911525' िलखा जाता है। उस भाषा मŐ, 'BREATH' कैसे
िलखा जाएगा?

Ans 1. 218526208

2. 259221197

3. 251841208

4. 259221208

Question ID : 65497843984

Status : Answered

Chosen Option : 4

Q.4 यिद 'A' का अथŊ 'जोड़' है, 'B' का अथŊ 'गुणा' है, 'C' का अथŊ 'घटाना' है और 'D' का अथŊ 'भाग' है, तो
िनɻिलİखत ʩंजक का मान िकतना होगा?

8 B (4 A 5) C (99 A 27) D 14 A 5 B (112 D 16)

Ans 1. 107

2. 98

3. 85

4. 116

Question ID : 65497842985

Status : Answered

Chosen Option : 2

Q.5 उस िवकʙका चयन करŐ जो तीसरे अƗर-समूह से उसी Ůकार से संबंिधत है िजस Ůकार से दूसरा
अƗर-समूह पहले अƗर-समूह से संबंिधत है।

PDK : QFN :: SJQ : ?

Ans 1. ULS

2. TMS

3. UNT

4. TLT

Question ID : 65497842366

Status : Answered

Chosen Option : 4

Q.6 'A % B' का अथŊ है िक 'A, B की बहन है'।
A $ B’ का अथŊ है िक 'A, B का भाई है'।
'A @ B' का अथŊ है िक 'A, B का पुũ है'।
'A & B' का अथŊ है िक 'A, B की माता है'।
यिद 'R % T & Z $ S @ V @ C % Y' है, तो िनɻिलİखत मŐ से कौन सा कथन सही नही ं है?

Ans 1. T, C की पुũी है।

2. C, Z की दादी है।

3. V, Z के िपता है।

4. T, S की माता है।

Question ID : 65497842977

Status : Not Answered

Chosen Option : --



Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842988

Status : Answered

Chosen Option : 2

Q.8 एक िनिʮत कूट भाषा मŐ, ' do or die ' को 'su ru ko' िलखा जाता है, 'let us do it' को 'ko mo yo
zu' िलखा जाता है और 'this or that' को 'ga tu ru' िलखा जाता है। उसी भाषा मŐ ' die' को कैसे
िलखा जाएगा?

Ans 1. su

2. ku

3. ru

4. ko

Question ID : 65497842975

Status : Answered

Chosen Option : 4



Q.9 उस िवकʙका चयन करŐ िजसमŐ दो संƥाएँ एक-दूसरे से उसी Ůकार संबंिधत हœ जैसे िनɻिलİखत
संƥा-युƵ की दो संƥाएँ एक-दूसरे से संबंिधत हœ।

14 : 450

Ans 1. 31 : 961

2. 18 : 722

3. 22 : 490

4. 30 : 902

Question ID : 65497843992

Status : Not Answered

Chosen Option : --

Q.10 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

45, 68, 99, ?, 187, 246, 313

Ans 1. 117

2. 140

3. 105

4. 166

Question ID : 65497842980

Status : Answered

Chosen Option : 2

Q.11 छह घर A, B, C, D, E और F, एक कॉलोनी मŐ İ̾थत हœ। D, E के 60 m दिƗण मŐ है। F, B के 40 m
दिƗण मŐ है। A, E के 30 m उȅर मŐ है। F, A के 50 m पूवŊ मŐ है। C, B के 50 m पिʮम मŐ है। A के संदभŊ
मŐ C का ̾थान ǒात करŐ ।

Ans 1. 30 m पूवŊ

2. 50 m उȅर

3. 40 m दिƗण

4. 40 m उȅर

Question ID : 65497842978

Status : Not Answered

Chosen Option : --

Q.12 चार अƗर-समूह िदए गए हœ, िजनमŐ से तीन िकसी न िकसी तरह से समान हœ और एक असंगत है। उस
असंगत अƗर-समूह का चयन करŐ।

Ans 1. RCN

2. YJB

3. UFQ

4. EPA

Question ID : 65497842971

Status : Answered

Chosen Option : 3



Q.13 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामाɊ ŝप से ǒात तȚो ं से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन-
सा/ से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करता है/करते हœ।

कथन:
कुछ िŮंटर, कूलर हœ।
कोई भी कूलर, टेलीफोन नही ं है।
सभी मशीन, टेलीफोन हœ।

िनʺषŊ:
I. कुछ िŮंटर, मशीन हœ।
II. कोई भी मशीन, कूलर नही ं है।

Ans 1. केवल िनʺषŊ I अनुसरण करता है।

2. न तो िनʺषŊ I और न ही II अनुसरण करता है।

3. दोनों िनʺषŊ अनुसरण करते हœ।

4. केवल िनʺषŊ II अनुसरण करता है।

Question ID : 65497843181

Status : Answered

Chosen Option : 4

Q.14 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

17, 16, 32, 29, 116, ?

Ans 1. 111

2. 81

3. 71

4. 121

Question ID : 65497843183

Status : Answered

Chosen Option : 1

Q.15 वह सही िवकʙ चुनŐ जो िदए गए श̭दो ं के उस Ţम को दशाŊता है िजस Ţम मŐ वे अंŤेजी शɨकोश मŐ
मौजूद होते हœ।

1. Junketeered
2. Junction
3. Junketers
4. Junketeering
5. Junctures

Ans 1. 2, 5, 1, 4, 3

2. 2, 5, 3, 1, 4

3. 2, 5, 4, 3, 1

4. 1, 4, 2, 3, 5

Question ID : 65497844606

Status : Answered

Chosen Option : 1



Q.16 अƗरो ं के उस संयोजन का चयन कीिजए िजसे दी गई ŵंृखला के खाली ̾थानो ं मŐ Ţमानुसार İ̾थत करने
पर यह ŵंृखला को पूणŊ करेगा।

S P _ _ _ P S T S _ _ _ S P S _

Ans 1. P S S P P S S

2. S T S P S T T

3. T S S P T S S

4. P S T S P T T

Question ID : 65497843178

Status : Answered

Chosen Option : 2

Q.17 िन̱नांिकत मैिटŌƛ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲ िच˥ (?) के ̾थान पर आ सकती है।

6 18 42
5 15 ?
7 36 61

Ans 1. 30

2. 45

3. 25

4. 53

Question ID : 65497842984

Status : Not Answered

Chosen Option : --

Q.18 एक िनिʮत कूट भाषा मŐ, 'SANCTION' को 'TZOBUHPM' िलखा जाता है। उसी भाषा मŐ 'TELEVISE'
को कैसे िलखा जाएगा?

Ans 1. UDMDUHTF

2. UDNDWGTF

3. SFKGUHRD

4. UDMDWHTD

Question ID : 65497843175

Status : Answered

Chosen Option : 4



Q.19

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842387

Status : Answered

Chosen Option : 4



Q.20 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुिनए जो िनɻिलİखत ŵंृखला मŐ Ůʲवाचक िच˥ (?) के
̾थान पर आ सकता है।

KMTC, EVOM, OQXG, IZSQ, ?

Ans 1. SUBK

2. SVCK

3. TVBK

4. SUCL

Question ID : 65497843171

Status : Not Answered

Chosen Option : --

Q.21

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842991

Status : Answered

Chosen Option : 4



Q.22

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844002

Status : Answered

Chosen Option : 3



Q.23 यिद िकसी संƥा के 90% का मान 621 है, तो उस संƥा के 20% के 50% का मान िकतना होगा?
Ans 1. 54

2. 69

3. 74

4. 79

Question ID : 65497842377

Status : Answered

Chosen Option : 2

Q.24 िदए गए समीकरण को सही बनाने के िलए िकन दो िच˥ो ं को आपस मŐ बदला जाना चािहए?

32 + 24 × 4 ÷ 16 - 64 = 90

Ans 1. + और -

2. ÷ और ×

3. ÷ और +

4. + और ×

Question ID : 65497843188

Status : Answered

Chosen Option : 1

Q.25

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843997

Status : Not Answered

Chosen Option : --

Q.1 ओिडशा ने Ůȑेक Ťामीण घर मŐ 100% कायाŊȏक घरेलू नल के पानी के कनेƕन Ůदान करने के िलए
______ को लƙ वषŊ के ŝप मŐ िनधाŊįरत िकया है।

Ans 1. 2025–26

2. 2022-23

3. 2023-24

4. 2024-25

Question ID : 65497842396

Status : Not Answered

Chosen Option : --

Section : General Awareness



Q.2 िनɻिलİखत मŐ से कौन-सा मोनोसैकेराइड का एक उदाहरण है?

A.ůƃोज B.सुŢोज C.ːाचŊ D.Ƹूकोज
Ans 1. A और D दोनों

2. केवल B

3. केवल C

4. B और C दोनों

Question ID : 65497842398

Status : Not Answered

Chosen Option : --

Q.3 िकसी िदए गए वषŊ या अविध मŐ Ůित 1000 जीिवत जɉों पर जीवन के पहले 28 िदनो ं के दौरान होने
वाली मौतो ं की संƥा को ______ के ŝप मŐ पįरभािषत िकया गया है।

Ans 1. अशोिधत मृȑु दर

2. िशशु मृȑु दर

3. नवजात मृȑु दर

4. आयु-िविशʼ मृȑु दर

Question ID : 65497843005

Status : Answered

Chosen Option : 2

Q.4 पवŊतो ं के संबंध मŐ िनɻिलİखत मŐ से कौन-सा/से कथन सही है/हœ?

I- पवŊत, एक पंİƅ मŐ ʩवİ̾थत Šए हो सकते है िजसे ŵेणी कहते हœ।

II-भारत मŐ अरावली ŵेणी दुिनया की सबसे पुरानी विलत पवŊत Ůणािलयो ं मŐ से एक है।

III-दिƗण अमेįरका मŐ माउंट िकिलमंजारो, ǜालामुखी पवŊत का एक उदाहरण है।
Ans 1. केवल II

2. केवल I और II

3. I, II और III

4. केवल I

Question ID : 65497843208

Status : Answered

Chosen Option : 1

Q.5 िकस बœक को 'द लŐडर ऑफ़ द लाː įरसोटŊ' कहा जाता है?

Ans 1. िवʷ बœक

2. सŐटŌ ल बœक

3. ːेट बœक

4. देना बœक

Question ID : 65497844006

Status : Answered

Chosen Option : 1



Q.6 ______ टœक कंŢीट, फाइबरƸास या ɘाİːक से बना एक भूिमगत कƗ है िजसके माȯम से घरेलू
अपिशʼ जल (सीवेज) बुिनयादी उपचार के िलए जाता है।

Ans 1. सेिɐक

2. साबुन

3. ɢश

4. दाब

Question ID : 65497843201

Status : Answered

Chosen Option : 2

Q.7 हाईडे˙ीज (Hydaspes) का युȠ िकन दो राजाओं के बीच मŐ Šआ था?
Ans 1. चंūगुɑ और धना नंद

2. िमिहरकुल और यशोधरमन

3. अशोक और महापȧनाभ

4. िसकंदर और पोरस

Question ID : 65497843211

Status : Not Answered

Chosen Option : --

Q.8 िसȠŐū योगी के Ůयासो ं ने ______ नामक नृȑ को गौरवाİɋत िकया है।
Ans 1. मोिहनीअǥम

2. कुिचपुड़ी

3. भरतनाǨम

4. कथकली

Question ID : 65497842994

Status : Not Answered

Chosen Option : --

Q.9 जलɢोराइडेशनƐों िकया जाता है, जो िक सावŊजिनक जलआपूितŊ के िलएɢोराइड का िनयंिũत
समायोजन है?

Ans 1. हǭी रोग को रोकने के िलए

2. िवटािमन की कमी को रोकने के िलए

3. दांतों की सड़न रोकने के िलए

4. नेũ रोग से बचाव के िलए

Question ID : 65497843003

Status : Answered

Chosen Option : 3



Q.10 भारत के संिवधान मŐ िȪसदनीय संसद का Ůावधान रखने का िवचार ______ संिवधान से िलया गया था।
Ans 1. आयįरश

2. कैनेिडयन

3. िŰिटश

4. ůŐ च

Question ID : 65497843015

Status : Not Answered

Chosen Option : --

Q.11 ______, राजीव गांधी खेल रȉ पुरˋार Ůाɑ करने वाली पहली मिहला हॉकी İखलाड़ी हœ।
Ans 1. शिमŊला देवी

2. िनſी Ůधान

3. वंदना कटाįरया

4. रानी रामपाल

Question ID : 65497842412

Status : Not Answered

Chosen Option : --

Q.12 िनɻिलİखत मŐ से कौन सा शहर फरवरी 2021 से 'भारत के खेल शहर' के ŝप मŐ जाना जाएगा?
Ans 1. गुŜŤाम

2. बŐगलुŜ

3. हैदराबाद

4. अहमदाबाद

Question ID : 65497843219

Status : Not Answered

Chosen Option : --

Q.13 ______ एकˢǅता Ůणाली को संदिभŊत करता है िजसमŐ शौचालय मानव मल को सील करने, हटाने
योƶ कािटŌ Ŋज मŐ एकिũत करता है िजसे उपचार कŐ ūो पर ले जाया जाता है।

Ans 1. शु̽क ˢǅता

2. कंटेनर-आधाįरत ˢǅता

3. पाįरİ̾थितकीय ˢǅता

4. समुदाय के नेतृȕ वाली संपूणŊ ˢǅता

Question ID : 65497843000

Status : Not Answered

Chosen Option : --



Q.14 कŐ ūीय बजट 2021-22 के अनुसार, सरकार की योजना राजकोषीय समेकन जारी रखने की है, िजससे
राजकोषीय घाटे का ˑर ______ तक सकल घरेलू उȋाद के 4.5% से कम हो जाएगा।

Ans 1. 2023-24

2. 2024-25

3. 2025-26

4. 2022-23

Question ID : 65497842998

Status : Not Answered

Chosen Option : --

Q.15 नािसक, िũयɾकऔर भūाचलम तीथŊ ̾थल िनɻिलİखत मŐ से िकस नदी के तट पर İ̾थत हœ?
Ans 1. कृˁा

2. गोदावरी

3. Ű˦पुũ

4. नमŊदा

Question ID : 65497843007

Status : Not Answered

Chosen Option : --

Q.16 ______ को, नवंबर 2020 मŐ नेपाली सेना के जनरल की मानद रœक से सʃािनत िकया गया था।
Ans 1. एयर चीफ माशŊल आरकेएस भदौįरया

2. जनरल एमएम नरवणे

3. जनरल िबिपन रावत

4. एडिमरल करमबीर िसंह

Question ID : 65497842407

Status : Not Answered

Chosen Option : --

Q.17 कीचड़ उछालना और खेतो ं मŐ दौड़ना, िकसी आदमी Ȫारा गजŊना करती Šई भœसŐ दौड़ाना कनाŊटक के
िनɻिलİखत मŐ से िकस ȑोहार के िलए िविशʼ दशŊनीय चीजŐ हœ?

Ans 1. कंबाला

2. पȅदकल

3. महामˑकािभषेक

4. करागा

Question ID : 65497843197

Status : Not Answered

Chosen Option : --



Q.18 बǄों को मुɞऔर अिनवायŊ िशƗा का अिधकार अिधिनयम 2009 संसद का एक अिधिनयम है जो वषŊ
______ मŐ लागू Šआ।

Ans 1. 2010

2. 2011

3. 2012

4. 2009

Question ID : 65497844024

Status : Not Answered

Chosen Option : --

Q.19 भारत के 48वŐ मुƥɊायाधीश के ŝप मŐ िनयुƅɊायमूितŊ एनवी रमना िनɻिलİखत मŐ से िकस राǛ से
हœ?

Ans 1. आंŬ Ůदेश

2. महारा Ō̓

3. केरल

4. कनाŊटक

Question ID : 65497844022

Status : Not Answered

Chosen Option : --

Q.20 िनɻ मŐ से िकस बीमारी/İ̾थित के पीछे खराब ˢǅता की İ̾थित संभािवत कारण नही ं हो सकती है?

Ans 1. आंũ ǜर

2. गिठया

3. पोिलयो

4. हैज़ा

Question ID : 65497844011

Status : Answered

Chosen Option : 2

Q.21 आिथŊक सवőƗण 2020-21 के अनुसार, शुȠ FPI (िवदेशी पोटŊफोिलयो िनवेश) ने ______ मŐ 9.8
िबिलयन अमेįरकी डॉलर का पूणŊ-कािलक मािसक उǄˑर दजŊ िकया।

Ans 1. िसतंबर 2020

2. िदसंबर 2020

3. नवंबर 2020

4. अƃूबर 2020

Question ID : 65497842391

Status : Not Answered

Chosen Option : --



Q.22 िनɻिलİखत मŐ से कौन 'सोशल हामŊनी' पुˑक के लेखक हœ?
Ans 1. नरŐū मोदी

2. पीवी नरिसʉा राव

3. मनमोहन िसंह

4. एचडी देवेगौड़ा

Question ID : 65497843011

Status : Not Answered

Chosen Option : --

Q.23 भारत के संिवधान को बनाने वाली संिवधान सभा मŐ िकतनी मिहला सद˟ थी?ं
Ans 1. 10

2. 12

3. 15

4. 14

Question ID : 65497843016

Status : Not Answered

Chosen Option : --

Q.24 िनɻिलİखत मŐ से िकस शासक के अधीन िदʟी सबसे पहले राजधानी बनी?
Ans 1. इʔुतिमश राजवंश

2. İखलजी राजवंश

3. तोमर राजपूत

4. अजमेर के चौहान

Question ID : 65497844020

Status : Answered

Chosen Option : 2

Q.25 िनɻिलİखत मŐ से िकस भारतीय राǛ मŐ आपको बƛा िकला िमलेगा?
Ans 1. तिमलनाडु

2. कनाŊटक

3. पिʮम बंगाल

4. ओिडशा

Question ID : 65497843008

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude



Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843025

Status : Not Answered

Chosen Option : --

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843028

Status : Not Answered

Chosen Option : --

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843038

Status : Answered

Chosen Option : 2

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844032

Status : Not Answered

Chosen Option : --



Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844036

Status : Answered

Chosen Option : 1

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844040

Status : Not Answered

Chosen Option : --

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842433

Status : Answered

Chosen Option : 2

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844045

Status : Not Answered

Chosen Option : --



Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843031

Status : Answered

Chosen Option : 4

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843226

Status : Not Answered

Chosen Option : --

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843221

Status : Not Answered

Chosen Option : --



Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842415

Status : Not Answered

Chosen Option : --

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843749

Status : Not Answered

Chosen Option : --



Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842232

Status : Answered

Chosen Option : 2

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844235

Status : Answered

Chosen Option : 3

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842414

Status : Answered

Chosen Option : 2



Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843033

Status : Not Answered

Chosen Option : --

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842435

Status : Not Answered

Chosen Option : --

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844047

Status : Not Answered

Chosen Option : --



Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843036

Status : Not Answered

Chosen Option : --

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843043

Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844039

Status : Not Answered

Chosen Option : --



Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843236

Status : Not Answered

Chosen Option : --

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844042

Status : Not Answered

Chosen Option : --

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843027

Status : Not Answered

Chosen Option : --

Q.1 Select the correctly spelt word.

Ans 1. Recieive

2. Prepair

3. Cansel

4. Weird

Question ID : 65497844078

Status : Answered

Chosen Option : 4

Section : English Comprehension



Q.2 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Our amusements have little zest if we engage in them in solitude.
B. Friendship increases happiness and diminishes misery.
C. It doubles our joys and divides our grief.
D. When we do well, it is delightful to have friends who are pleased with our success.

Ans 1. ABDC

2. BCDA

3. DACB

4. CBAD

Question ID : 65497842453

Status : Answered

Chosen Option : 2

Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

No sooner did / the child start crying / then the mother / hugged him.

Ans 1. hugged him

2. No sooner did 

3. the child start crying

4. then the mother

Question ID : 65497844056

Status : Answered

Chosen Option : 3

Q.4 Select the most appropriate synonym of the given word.

Smooth

Ans 1. Flat

2. Rough

3. Uneven

4. Broken

Question ID : 65497842454

Status : Answered

Chosen Option : 1

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Computer crime have been in the news since the nineteen eighties.

Ans 1.  has been on the news since

2.  has been in the news since

3.  has been in the news from

4.  No substitution required

Question ID : 65497842452

Status : Answered

Chosen Option : 3



Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

A sound that cannot be heard

Ans 1. Inedible

2. Audible

3. Indelible

4. Inaudible

Question ID : 65497844076

Status : Answered

Chosen Option : 4

Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Your name / precedes before mine / in the / admission list.

Ans 1. admission list

2. Your name

3. in the

4. precedes before mine

Question ID : 65497843047

Status : Answered

Chosen Option : 4

Q.8 Select the option that expresses the given sentence in active voice.

How many candidates had been interviewed by him before lunch?

Ans 1. How many candidates had he interviewed before lunch?

2. How many candidates was he interviewing before lunch?

3. How many candidates did he interview before lunch?

4. How many candidates has he interviewed before lunch?

Question ID : 65497844059

Status : Answered

Chosen Option : 3

Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The recently hike / in the price of petroleum products / will hit / household budgets
severely.

Ans 1. The recently hike 

2. household budgets severely

3. will hit

4. in the price of petroleum products

Question ID : 65497843651

Status : Answered

Chosen Option : 4



Q.10 Select the option that gives the most appropriate meaning of the underlined idiom.

It is good to take into account all the important factors before making a decision.

Ans 1. control

2. leave

3. consider

4. select

Question ID : 65497843266

Status : Answered

Chosen Option : 3

Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

A glass container to keep fish

Ans 1.  Atrium

2.  Vase

3.  Aquarium

4.  Beaker

Question ID : 65497843067

Status : Answered

Chosen Option : 3

Q.12 Select the most appropriate ANTONYM of the given word.

Camaraderie

Ans 1. Friendship

2. Companionship

3. Amity

4. Dislike

Question ID : 65497843063

Status : Answered

Chosen Option : 4

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

It is not worth / having the trouble / to write to him / as he never replies.

Ans 1. to write to him

2. having the trouble

3. as he never replies

4. It is not worth

Question ID : 65497842640

Status : Answered

Chosen Option : 1



Q.14 Select the most appropriate synonym of the given word.

Imminent

Ans 1. Impending

2. Ignorant

3. Distant

4. Unyielding

Question ID : 65497844071

Status : Answered

Chosen Option : 3

Q.15 Select the option that expresses the given sentence in indirect speech.

She said, “The stars are shining brightly tonight.”

Ans 1. She said the stars were shining brightly tonight.

2. She asked if the stars were shining brightly that night.

3. She said that the stars were shining brightly that night.

4. She said the stars are shining brightly tonight.

Question ID : 65497843056

Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate ANTONYM of the given word.

Criticise

Ans 1. Prevent

2. Forgive

3. Disappoint

4. Praise

Question ID : 65497843264

Status : Answered

Chosen Option : 4

Q.17 Select the most appropriate option to fill in the blank.

Their idea of a holiday ______ at a luxury resort.

Ans 1. is to relaxing

2. is relax

3. is relaxed

4. is relaxing

Question ID : 65497843069

Status : Answered

Chosen Option : 1



Q.18 Select the option that expresses the given sentence in active voice.

Trumpets are being blown by the soldiers to announce the victory.

Ans 1. The soldiers were blowing the trumpets to announce the victory.

2. The soldiers blew the trumpets to announce the victory.

3. The soldiers blow the trumpets to announce the victory.

4. The soldiers are blowing the trumpets to announce the victory.

Question ID : 65497842442

Status : Answered

Chosen Option : 3

Q.19 Select the option that gives the most appropriate meaning of the underlined idiom.

I am working on too many projects. I think I have bitten off more than I can chew.

Ans 1. To take on more than one can handle

2. To be happy to multitask

3. To find work dull

4. Not able to finish work

Question ID : 65497843065

Status : Answered

Chosen Option : 1

Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The student apologised the teacher for the delay in submitting the assignment.

Ans 1. is apologising the teacher

2. No substitution required

3. apologised to the teacher

4. has apologised the teacher

Question ID : 65497843259

Status : Answered

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
______ the child’s interest the most. (2) ______, use different voices (3) ______ each
character or act out various (4) ______ from the story, to bring life to those characters. (5)
______ out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. catch

2. catches

3. caught

4. has caught

Question ID : 65497843051

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
______ the child’s interest the most. (2) ______, use different voices (3) ______ each
character or act out various (4) ______ from the story, to bring life to those characters. (5)
______ out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. Either

2. Also

3. So

4. However

Question ID : 65497843052

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
______ the child’s interest the most. (2) ______, use different voices (3) ______ each
character or act out various (4) ______ from the story, to bring life to those characters. (5)
______ out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. with

2. for

3. from

4. by

Question ID : 65497843053

Status : Answered

Chosen Option : 4



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
______ the child’s interest the most. (2) ______, use different voices (3) ______ each
character or act out various (4) ______ from the story, to bring life to those characters. (5)
______ out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. sheets

2. pages

3. parts

4. words

Question ID : 65497843054

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

How should one read a story to a child? Usually, a personality or character of the story (1)
______ the child’s interest the most. (2) ______, use different voices (3) ______ each
character or act out various (4) ______ from the story, to bring life to those characters. (5)
______ out parts from the story will make story sessions fun and memorable for the kids.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. Telling

2. Acting

3. Asking

4. Saying

Question ID : 65497843055

Status : Answered

Chosen Option : 1


